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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

—o— PHC ——9 — o — /e — e — o —
101 —e— PHI
9_
8_
7 A . —
Warning: col ['FVIPH' ] is missing
@ @ @ @ @ @ @ L 4 @ L 4 L 4 L 4 L 4 @ ®
4 6 8 10 12 14 16




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-2_0
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Byia) | EBEETIC (7)) | EHME (BAH/HK) | XK EE

06:50 74 60.0 5 BRi%@06:50 Bz (RAAEREE)
07:35 74 60.0 5 ’Ri%e07:35 Bz (RAERESE)
08:40 74 60. 0 5 1%@08:40 B3l (KAEREE)
09:30 74 60.0 = 1RRi%@09:30 B3 (REEREE)
10:15 74 60.0 5 ’Ri%e10:15 Bzh (GRAERESE)
11:00 74 60.0 = B2i18@11:00 Bz (FEERSE)
11:50 74 60.0 5 BRi%e11:50 Bzh (GRAERESE)
12:40 74 60. 0 5 Ri%e12:40 B35 (KREERES)
13:30 74 60. 0 5 Ri%@13:30 Bz (REERES)
14:05 74 60.0 5 Bi%@14:05 Bah (kBHEREE)
14:50 74 60.0 = RRi%e14:50 Bzh (GRAERESE)
15:35 74 60.0 & BRi&@15:35 Bz (GRAERE)
16:30 74 60.0 B FiT016:30 Bzl (GRAEEE)
2it[962.0 (13%) 780. 0 3ZHIKEC: 2000.0, PH: 6.1

FIREBRATHC R IRIREIZIN (74 vs 88.0))
EXIASEPRIEBES0. 0 ml.

REXFEBPH (10.34) 5i&%EPH (6.0) RER K, HFHRE
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RE R i# ELRECEIE HRK.

HEEKRECE (1955. 0 vs 4025.0) i35

RER B HEREC/PHIELERR, W RERZNIAEELR TR
EXGEBPH (10.2) 5% EE (6.0) REKK, BRE.
EREBPH (10.2) S5REGEWY (6. 1) RERK, FHEE.
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BfiE) | EBIETK (FD) | EM=E (EH/ER) | XK R

06:35 74 60.0 |Z=| {Ri%e06:35 Bz (REEZEHE)
07:20 74 60.0 |Z=| {Ri%e07:20 Bz (REEZEHE)
08:20 74 60. 0 F BRi%e08:20 Ba1 (RAERE)
09:15 74 60.0 [Z=| {RiZe09:15 Bzl (RAFEHSE)
10:00 74 60.0 |Z=| {Ri%e10:00 Bz (REAEZEHE)
10:50 74 60.0 [Z=| {RiRZe10:50 Bz (RAFEHE)
11:40 74 60.0 |Z=| {Rige11:40 Bz (REAEZBE)
12:35 74 60.0 (Z=| {Ri%e12:35 Bz (RAEHSE)
13:25 74 60.0 FA| 1BRi%@13:25 B3h (RAERSE)
14:05 74 60.0 FA| 1BRi%@14:05 B3h (KRAHEREE)
14:50 74 60.0 FA| {Ri%e14:50 Bzh (GRAERESE)
15:35 74 60.0 (Z=| {Ri%@15:35 Bz (GRAEHSE)
16:25 74 60.0 [2=| {RiBe16:25 Bz (KAEREE)
23t[962.0 (13%) 780. 0 3ZHIKEC: 2000.0, PH: 6.0

EORGEBIREL RN (0.49 vs 0.66), AIREE S AEESEEEESKERE
MERRHLEME STHAEARSY (36.0 : 50.0), HAJEEKEEERME
EOREBIRT R IRAE AR (74 vs 88.0))

ZRIA K PRIEBRLS0. 0 ml.

FERERPH (10.4) 5i&%EPH (6.1) BEKK, BHTE
FEREBPH (10.4) 5FNPH (6.5) REKK, FHRE

FE R 13 B RECEE SR <.

#[ERECE (1962.0 vs 4067.0) 15
REXREBT I HEREC/PHE K, FIREINIRAER R

LRGERIEC (1690.0) S54RAIEY (2000.0) REK K, BHHRE.
ERGERPH (10.1) 5igEE (6.0) RERKK, HERE.
LORGEBIPH (10.1) S5#REIEWN (6.0) RERK, BRE.
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G3-2_0, Day=15 (2025-05-27)
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G3-2

BYE) | GEBERTIC (B)) | EME (EAH/#K) | XS R

06:20 59 60.0 E|  {Ri1g006:20 B3h (RE{ERSE)
07:15 59 60.0 El 1BRi&e07:15 Bzl (GRAEEE)
08:10 59 60.0 = {RRiB008:10 Bz (RFAKEE)
09:10 59 60. 0 5| 1Ri%e09:10 B (KREAERSE)
10:05 99 60.0 (Z=| {Ri%@10:05 Bz (FAMEHSE)
11:00 59 60. 0 =l RRiB@11:00 Bz (REAKEE)
11:55 59 60.0 E| {Rige11:55 Bah (GRE{ERSE)
12:50 59 60.0 = BRiB@12:50 B (GRAERESE)
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14:30 59 60.0 E BRige14:30 Bz CGRAEREE)
15:40 59 60. 0 5| 1Ri%e15:40 B CGREERE)
21t]649.0 (11%) 660. 0 3 3FKEC: 2000.0, PH: 6.1

FORGEBRHC R IRIEELE I (59 vs 88.0))
ELIASEPRIERE40.0 ml.

REXFEBPH (10.35) H5i&%EPH (6.1) RER K, BFHRE
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HEEIRECEE (1955.0 vs 3880.0) i3/

EREBPH (10.1) 5i8EME (6. 1) BERK, BHRE.
ERGEBIPH (10.1) SR (6. 1) RERK, HRE.
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